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Instructions:

Write each answer on a new page.
Use of a calculator is permitted. Present Value tables annexed
Notations have their usual meaning.
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are more comfortable with.
*COs=Course Outcome mapping. # BTL=Bloom's Taxonomy Level mapping

W

Advisable to go through the question paper at the start of the exam and attempt those questions first that you

! Marks| CCs | BT
3. No. Details ' « BlL
Q.1
a) The DOL and DFL of a company are 1.25 and 1.2 respectively. The current sales of 5 a—
the company are Rs. 10.00.000 and the EPS (Farning per share) is Rs. 5. If the sales 2,345
rise to Rs. 12,00,000 what will be the new EPS at this increased level of sales?
b) . , o e \ o . .
A project requires an initial investment of Rs. 8000. The NPV of the project at 12% co3
discounting rate is 2000. What is the PI (Profitability Index) for the project (at 12% 3 ,
discounting rate)? Lo
Q.2
a) Project D requires an initial investment of Rs. 1,00,000 and has a life of four
| vears. The yearly cash inflows after taxes (CFAT) are:
| Year CFAT (Rs.)
| 1 25,000 5 | cos | 234
2. 25000
o3 25000
A | 34,000

Calculate the Internal Rate of Return ftor the project. Will the project be

accepted if the required rate of return is 12%7




b)

The Net profit Margin (NPM) of ABC Lt is 0.08 (i.e. 8%). The Asset

Turnover ratio (ATR) is 3. The Assets to Liquity ratio 2. What is the Return on

' Equity (ROE) for ABC Lid. ?

Cco4

Q.3

' XYZ Lid. is undertaking a new project for which it will require Rs. 2,00,000.

Debentures will cost 11% p.a.. preference shares 10% p.a. and Equity shares
can be sold at Rs. 100 per Equity Share. [ncome tax rate is 20%.

The company has a choice of the following plans for financing its funds
requirement: —

i) Issue a 1000 number of Equity Shares and for balance amount issue
Rs. 1,00,000 worth of Debentures.

1) [ssue 500 number of Equity shares. Rs. 1,00,000 worth of
Debentures and Rs. 50,000 worth of Preference shares

- Based on the above:

a) Calculate the Indifference Point for the above mentioned financing
plans. (7 marks)

b) If the expected EBIT after the expansion is Rs.30,000 which of the
above plan will give a higher EPS. (1 mark)

Cco2

2,345

Q.4

Growth Ltd. is planning to expand its operation and is considering one of the
two projects for investments. Both the projects require an initial investment
(Cash outflow) of Rs. 2,50.000 and will have following Cash Inflows:

[

Year Project ‘A’ Project ‘B’ W

1 Rs. 60,000 | Rs.1 ,oo,oo”dfﬂ
|

N

60000 | 150000
"3 | 70000 | 20.000

4 80000 |

| |
5 80,000 J

The required rate of return for the company is 11%.
Calculate:
a) The Payback period for both the projects (3 marks)

b) The NPV for both the projects (5 marks)

COo3

2.3 4

XYZ Ltd, is considering to relax its credit period from 40 days to 60 days (for

Cits Customers). Currently. it has Credit sales amounting to Rs. 28,00,000.

CO5

2,3.4.5




‘ The sa e price per unit is Rs. 40, the variable cost is Rs. 25 while the average
costis Rs. 35 per unit at current vdlL\ tevel I eredit period is increased. the
‘ ales are expected to rise to Rs, 30.00.000. Bad debts will also increase from
‘ 1% of sales to 2% of sales if L,lbdll terms are relaxed. The cost of financing the
\ debtors is 15% p.a. Should the company relax its credit policy? (Assume all

| sales are credit sales)

whrkr En d of Question Paper************
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